Lab Key:

Data tables: responses may vary in sketch quality and such but general trend should be from 1 large segment in the first to many smaller segments in the second. 
1. The cookie was split up into many parts or left intact but with very little mined depending upon student vigor in mining.
2.This activity most accurately simulates surface mining or strip mining. The reason being that much of the cookie was stripped away to reveal subterraneous chocolate.
3. Slightly more abstract answers: In general, environmental degradation/ habitat destruction.
